HEENEXEL Y — - h Y BEEARR
Fpi284E 3AARE

RS (3 /B - B L /B L /Bt L) st - )
E & o & 5 B o &
TE | WA . TE | WiE :
Ex | x| U Ex | omx | W
ElE&E 12,610, 176] 12, 500, 722 109, 454 & E 0O
EXE 12,007, 269] 12,500, 718 A 493, 449(H K& 2,113,381 2,113,381 0
EY 12,007, 269] 12,500, 718| A 493,449 EAX& 2,113,381 2,113,381 0
TRMDETEEE 602, 907 4 602, 903 | EEHBN & EFRITEILE 10, 970, 230| 11, 421,060| A 450, 830

BEY 602, 904 1 602,903| EEHBILZIERTEIL]| 10,970, 230| 11, 421,060| A 450, 830
HIpERE 1 1 O Epsgis;EoNtE R =48 A 473,435 A 1,033,719 560, 284
BERVER 2 2 0| (5 LA FEHEHELE) 560, 284| A 42, 619 602, 903

MEEDIEE 12,610, 176] 12,500, 722 109, 454

BEEDOEEE 12,610, 176 12, 500, 722 109, 454| BERUHEEDIEE [ 12,610, 176] 12, 500, 722 109, 454




HENEXEL 22— - H 2 FXTBHES
(B) Fm27E 4R 18 (¥) /285 3A31H

WAL (3H/8E - RELGL/BEGL/HIEL) (Bfz - [)
HEHEB LEEREWN) | AIEEREB) 13 (A) - (B)
.|j.
| |4
E|#&
Z T ER AT () 0 0 0
7| |[BEEIE 517, 971 493,449 24,522
o | 2 |EEHR BB S BT I £ Y AR A 450,830 A 1,252,318 801, 488
| A
ﬂ?‘ H—EZEFHER Q) 67, 141 A 758, 869 826, 010
T H—EXEDEREE ) =(1)-) A 67,141 758, 869 A 826,010
_|j.
I
. | 4R
E
=2 =
g H—E XFEEISNNEEET (4) 0 0 0
aln
|
» Y—EXFBNERE ) 0 0 0
8| —EXERNERZERE6)=D-0) 0 0 0
EEER=2(1)=(3)+(6) A 67,141 758, 869 A 826,010
H—EZARSRERAZING 704,419 0 704, 419
i)}
LSS
fég BRI ZEET (8) 704, 419 0 704, 419
| |EEEETIE - LI 76,994 0 76,994
o |z | EEHTIE - LA 76, 994 0 76, 994
| g | QD HEAIBR 0 801, 488 A 801,488
" EE#S At R ERTHBFENEIE 0 801, 488 A 801,488
BAER O 76, 994 801, 488 A 124,494
BEAlER=2(10)=(8)-(09) 627, 425 A 801, 488 1,428,913
SEEERE=g (N=()+010) 560, 284 A 42,619 602, 903
? AR EEHEEEE(12) A 1,033,719 A 997,100 A 42,619
z [ BPAREEDER=E (3=>0D+12) A 473,435 A 1,033,719 560, 284
B EXEmEE 0D 0 0 0
o [T DMDTETL £ ERARZE (15) 0 0 0
£z [ ZTOMDTBELETELEE (16) 0 0 0
ﬁ? G ERIE R =4
@ | (17)=(13)+(14)+(15)-(16) A 473,435 A 1,033,719 560, 284




AENEXEL T —-

h s BERZGEE

(B) FH274% 4R 18 (¥) Fp284 3A31H

w@%(NWQE-M%tu&F&meL) (4
DERE FER 2EG [EREA-0 &=
2|k
Z| A
) BEZTHRAT D 0 0 0
&
%
3
Iy | &
% EE3eS A R0) 0 0 0
EEEFIEEIEE 2 (OH0E0) 0 0 0
i
= |y
= A
s BERERAHQ) 0 0 0
c T EEEERR =3 O 704 479 A 704479
£ |x BEYRSEXH 0 704, 4191 A 704, 419
3 | &
% EREREXET ) O 704 479 A 704479
AEREEESINZ =% 6)=4) - () 0 A 704,419 704, 419
Z[ [P—EAXSMEASRA O 704 419 2 704479
1@ Iy
3PN
g RO EIEAT (D O 704 479 A 7044719
1z
%
g H
I OB EBRET ®) 0 0 0
% ZOROEHEENEEE Q=D -® 0 704 479 A 7044719
FEERE (10) ] E— 0
A NS EEE (=36 @0 0 0 0
R ESENE LA 0 0 0
B ESEN-EX: IR 0 0 0




HEENEXELVS—-H 2 BENXTFEE
(B) Fm284%F 48 18 (¥) Fp29% 3A31H

w@%(MWQE-W%ﬁukF&meL) )
DERE TEN FEEFEOEBAR-B BZ

2|k

= |2

) BETHRAT D 0 0 0

&
%

3

Iy | &

% EE3E3 A R0) 0 0 0
T EEEHEINZEEE O =()-0) 0 0 0

i

= |y

2| A

s EERERAH Q) 0 0 0

1z

&%

3|

2 R S TRIO) 0 0 0

REEEa2 X252 6)=4-0) 0 0 0

%

D
I

3PN

g OB EHIAT D) 0 0 0

1z
%

g H

I L R RIO) 0 0 0

% ZOBOEHEENEEE ) =(D- 0 0 0
FlEEXE (0) 0 0 0
A NS EEE (=36 @0 0 0 0
R ESEN LA 0 0 0
B ESEN-E: IR 0 0 0




HENEXELVE2—-HF2 BHEBE

FR284%F 3A3IARE
WmEE (3H/8iE - REGL/BERZL/HEL)

BEE - BEDANR B 23
I EBED
2 BEEEE
(1) EABtzE

[z27) 12,007, 269
EARBESE 12,007, 269

2) ZoHtDEEERE
BEY 602, 904
HEHERE 1
BRERUESR 2
ZTOMOEEEES 602, 907
BEE&EAET 12,610,176
BESE 12,610,176
=olMEE 12,610,176




